Algebra 2







Name: _________________________

Unit 4, Day 15







Date: _______________ Period: ____

Unit 4 Review
Show all your work and reasoning.  Use pencil and highlight your answers.
	1.  Solve for x.

	a)  
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	b)  
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	c)  
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	2.  Solve for x:

	a)  by factoring.
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	b)  by factoring.
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	c)  by completing the square.
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	3.  Simplify completely.

	a)  
[image: image7.wmf]12

45

xy

+



	b)  
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	c)  
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	4. Rewrite in vertex form by

	a)  completing the square
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	b)  averaging the roots
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	c)  using the formula
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	5.  Graph each function and determine the following information for each.  

	a)  
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x–int:  _____________________

y–int:  _____________________

domain: ____________________

range: _____________________

locator: ____________________

asymptote(s):________________


	b)  
[image: image14.wmf]232

yx

=--


x–int:  _____________________

y–int:  _____________________

domain: ____________________

range: _____________________

locator: ____________________

asymptote(s):________________
	c)  
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x–int:  _____________________

y–int:  _____________________

domain: ____________________

range: _____________________

locator: ____________________

asymptote(s):________________

	6. Given 
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, if the graph of the equation is shifted 3 units left and one unit down, and flipped over, what is the new equation?  Sketch both graphs.

New equation:
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